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 Open a new page on Autograph
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 Use ‘add equation’ to enter the first constraint:

x + y ≤ 14

Use ‘zoom’ [image: image3.png]


 and ‘drag’ [image: image4.png]


 to get a clear view of the shaded out area

Add the other 2 constraints in the same way:
x + y ≥ 10
and 
x ≥ y

Also add the ‘obvious’ constraints x ≥ 0 and y ≥ 0
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Sketch and label

a graph showing 

the feasible 

region in the 
space opposite:
Click here for Autograph 
Back to Autograph and add the equation P = 5x + 10y

You need to understand that ‘P’ in this equation is taken as a constant – and you have ‘control’ over the value of this constant. Initially P has the value 1 (which in the context of the problem is crazy! 


Now the clever bit!
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  Click on the ‘constant controller’ and change the ‘step’ to 1. 

Click the arrow 4 times to change P to 5 and watch the line representing the objective function (what are the values of x and y when P = 5?)

Finally change the step length to 5 to enable you to . . .


Explain why P cannot possibly be 1:





Write down the maximum value of P (and the respective values of x and y) such that the objective function remains in (or on the boundary of) the feasible region:


	P =£ 		x (no. of kids) = 		y (no. of adults) =
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